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< Graph each of the following trigonometric functions on the specified interval.
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3. Determine the each of following for the graphs in #1 #2 and #3 if they were
graphed for—o <8 <0,
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7. y=—cscx+1, (graph 2 periods)
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8. y=sec(3x+7), -r<x<2rm ¥
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9. y=2cot| x- . (graph 3 periods)
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10. y=—tan| ——x |,
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12, y=-3cotx—1, (graph 2 periods)
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13. Determine a sine function and a reflected cosine function for the graph below.
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14. Determine a cosine function and a reflected sine function for the graph below.

~Cosine Equation: M= 1.5
Reflected Sine Equation:
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Tangent Equation: ga 3 ;f
Cotangent Equation: © =
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16. Determine a secant and cosecant equation for the graph below.
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Cosecant Equation: J y=0.5cs¢ ( X+

Y= 0.5 o X

/N




